TR 18 FREE ERE - HGE

FEMIBRFHER K
(RS %)

(Biz b0
5+ 100m
200m

400m
110mH
ES/ES
= Bk
Bk
4 X 100mR

¥ 100mH

400mH
7 MR

400m
3000m
MR Bk
SR 4
4 X 100mR

4 X 400mR

(B —R— L)

(FeaE i)

— 60kg
(e ERES)
By r Iz

By o R
LA HTIVA

(£37
(37
2 {ir
(=37
(£37
(37
2 fir
4L
(37

a5
34
afir
s
4fir
s
2 fir
3 fir
34
afr
4fi
2 fir

3{

(37

3

4z
3

LN PN

L

(NP N

il
Ffop
ZFt
2 ft
ol
Ko
]
Zft

NP N

aiks)
(3
i
Sk
Al
5
2

K#gnEY
A UBETHR

2
s

2
st
ot
Kb
I
el
bt
b

ek

BB
2
ESh)
il
HHHT

(s

ES

BEREREEEREERSEEEREBEREREEEREREEE

®
m
S

~ o~~~ o~
(FORTONENR GG

\

CE

T
oM T
AHAHEHER A

NSNS NSNS INGS

(7 = =)
B HIAk
Ik
BFHT VA

B TR

AL TR

Lt TR

(SR> i)
BT A
Mk
BFET LA

Br TR
LA TR
(IES)
BAEA
LR UN

(I E )
eEA
(k&)
BAREHS M

5
%
5
3
5
2 {i
e
3 iz

211

(4
2/
34

05
3

3L

BEA

| 22
L% Bz Q)
e GH)

KWt (3 4F)
E¥ BE G )
m Q)
wiE T QF)
Mo HER (24F)
I dpA (3 4F)
g2 BT G4F)
I o b (3 4F)

ik G
NIRRT (2 4F)
ik G
TN (2 )
=¥ Hid Q%)

b - (G4
EHR 7 (2 47)

we HEOQF)

i 34F)

[&EREDOFER]
(=288

B[k 3L
(5 B0

FHRIMRERS GLIRALILERE) 1 FERRGE G KA )

FRIpZEmIGRyRRs B

BARJpZEm3cmykRs B
b - AbifpE R ERORS 1 R 8
W PRPBETRINTE 2

[EfETZDRAE]
(BEER)
EA 2 kT PR HE B F— 4

T 1ECCHEE > 2ERE~
FEFE - EXK K CEILER))
10A 1 EPGERITHMEY £7,

(EhE— GF) 14K

AP ABEFERY ST S88 A AT A E —~
CHSIZOAARY B AE BREALGL
2 SAB T LT 5 WS R CiTH KRR
Matmpen == 1 0405088 a s rikEry
00 RO _ 4T = 2&nmkE—=

ﬁ®%ﬁHVﬁ%mi®ﬁ?§mtnﬁmﬁ

T N EIE SN SN ) &Kﬁﬁﬁfw

@E}%fﬁvﬂ‘ﬁ’v9’®‘)llﬂfﬁ HK ‘b\kﬁ@

ﬁﬁﬁﬂu7%mAM%A @%:6%Ui

M BERAREBE, RIE Tyl e

MR J T 88 i ‘5|3‘J")l|:ﬁ}|| »H T R HFHEM

W6 AR A E R o vEH 1K

~ T EERMO R 1 V=R s e

LT 1265EQ "HEAML T B IV B -

EHHE SOM MR 16272 24 . B A

3V‘Vﬁ®%ﬁ%lﬁ%@%@%%ﬁ X

4T 8Fhk¥F AAHM882T & I

L Bp-ae &l pABAT K

66 5 A 297 mas1 5 5NN B

BAT AN m&m&%%ﬁﬁ + #L

%HQEHEY’HE &Hﬂﬁdﬁj(@;*)(é —y

3 ROV DI EVE 3= R
@@@{Eﬁ 24 42 W == ‘HJ”?%J” EI E
EmEHEA M) BEaEfgs o~
B TOO LMy &5 30]%
EOBELMA wWE - | _f_ g
FrFF o I3 OEEHE

~ o~ =21 T T A A I °
Ay 39 13051 - dk

A 23 4£ 8 H « & 1 [l &l |k e Bt K&

BT [ R kR




